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1. 11. Consider a S'ystfmatic {8,4) Linear Block Code whose parity check equations are 6M

Vg =ty + Uy + U,y
\ Vg =ty + Uy + Uy
i'z = Uy + iy + Uy
l i'3=u“+uz+u3
\ Where ug, uy, iy, 13 are message digits, and vy, v, v, 74 are parity check digits.
(ifFind the generator matrix of the code. |
‘ (iiyfind the parity check matrix of the code. ' b

I_[iii}(’.‘.c_:_:gt_r_n._lg:t the Encoder circuit for the given prolilem.
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| 2.,| Given the (7,4) Linear code with generator matrix G* 6 = g
| _ 0 1.0
(i) Determine the systematic form of generator matrix G.

(tii) Determine whether the reccived vector r = [1101101] contains an error or not.
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’ (ii) Find the parity check matrix H for the code.
|
|

3 | Construct a standard array for [.},k] Linear Block Code with the help of an example. And also explain the
l syndrome decoding pperation using a standard array,
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Deicrmine the (7,4) ﬂﬂﬂ"‘)’“t"m“uc,““d 'Y"t“;“tlc cyclic codeword polynomials
m, = 1101, with generator polynomial gX) =X +x 4 1,

E

for message bits my = 1100,
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